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FK® =FN " +NK”-2-.FN -NK:cosN

e

FK2 =52 +4% -2.5.4-cos60
OTBGTIZFKZ\/i

=25+16-20=21
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AQ2 =M % +MA2-2.0M -MA -cossM

2+62—2-6 -6-cos Z150

NE)

AQ 2=T2-72 -(—cos30) =72+36-7=102,6

0. ¢

OtBer : : AQ =+/102,6
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1. .C=180—-~/A— /B
ZC =180-75" —60" = 45"
HOTeOpeMe CI/IHYCOB ;

AB AC

9% =
sin ZC sin ZB

S AC s ¢
sin £/ B

AB

_ 4-sin 45"
~ sin 60"
45 )
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AB
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'sin/A sin ZB
BC -sin ZB
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sin £ A =

AC
V2-5in60° N2-43 42
B By

sin LA =

/A =45"
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2. /C=180"-~/4— /B="75"
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ZCOJ = 45"

Z0C/ =30"

X 2 sin30! v 05

oo o=
sin 45"  sin 30" sin 45" «E
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/BAJT = 60"

C

~ 60°

e i

BIl* = AB° + AJ[> —2AB- AJ] cos LA

B/]* =3*+5*-2-3-5-cos 60"
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ZATC =135"

= i

AC? = AT +CII* —2 AT -CH cos [T
e 3 3 ) 3 g 1

AC?* =9+9—-18cos135"
AC? =9(2++/2) AC=3V2++2
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ZLATIC =120°
ZACH =30"

sin120”  sin 30"
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